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Assignment 1.1:  Match the Business Model 

Introduction 

The point has been often made in class that a firm’s business model is a major driver of a firm’s 

Balance Sheet (or Statement of Financial Position).  In this assignment your task as an analyst is 

reversed.  That is, given 10 common size financial statements and 10 different business 

descriptions can you identify which financial position is associated with each business 

description? 

The following data is provided for 10 major companies in common size form (numbered 1-10) 

constructed from the FSA Module.  That is, each stock’s data is size adjusted.  The common size 

statements use Total Assets as the scaling variable. 

 

Brief Business Description for the Ten Companies 

A:   This company engages in the manufacture, marketing, and sale of nonalcoholic beverages 

worldwide.  

B:  This company operates general merchandise stores in the United States. 

C:  This company designs, manufactures, and sells integrated digital technology platforms 

worldwide.  

D:  This company provides information technology (IT) products and services worldwide.  
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E:   This company engages in the manufacture and sale of a range of branded consumer 

packaged goods.  

F:   This company provides passenger and cargo air transportation services in the US and 

globally.  

G:   This company provides workforce (i.e., hiring) solutions and services. 

H:   This company owns and operates a chain of natural and organic foods supermarkets.  

I:   This company engages in the acquisition, exploration, development, and production of 

natural gas and oil properties in the United States. The company also offers marketing, 

midstream, drilling, and other oilfield services. 

J:   A hospitality company, that manages, franchises, owns, and develops branded hotels, 

resorts, and residential and vacation ownership properties worldwide.  Its portfolio currently 

consists of 508 properties in 46 countries. 

Required:  From the Common Size Consolidated Balance Sheets plus Supplementary 

information your task is the following: 

i.  Match the numbered common size balance sheets (1-10), scaled by Total Assets, to 

the letter descriptions of the companies (A-J).  That is, match the numbers to the 

letters. 

ii. Provide brief reasons for how you chose the match.  In particular, what particular 

line items did you focus in on and why. 
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Common Size Financial Statements 
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Assignment 1.2:  Understanding Analyst Earnings’ Forecasts using Common Size Analysis 

Introduction 

Income forecasts from financial analysts have a profound impact upon management and the decisions 

they make.  This is because earnings’ season not only affects the fortunes of investors but also the 

success or failure of the management being rated.  In turn, the financial analyst industry has become 

increasingly competitive and is also subjected to close scrutiny from the popular financial press (e.g., the 

current Bloomberg ratings provided on the course blackboard with assignment 4). 

In this assignment you will start with the consensus sales forecast numbers as your “top line” from 

which you will make your own earnings forecasts for Apple’s 2013 and 2014 earnings and diluted 

earnings per share.  The consensus forecast sales numbers are provided in Appendix 1 (the same as 

provided in the lecture), common size analysis and related information is provided in Appendix 2, 

Porters’ 5-Forces is summarized in Appendix 3, and an extended common size analysis is provided in 

Appendix 4. 

Required 

1.  Using the latest year’s common size analysis (2012), forecast earnings and diluted earnings per 

share for Apple 2013 and 2014.  Be sure to provide what the scale of your numbers is (i.e., 

millions, billions or whatever scale you choose to work with). 

2. Compare this projection to the consensus analyst forecasts comment and provide brief support 

whether your forecasts are consistent or not with the analyst consensus. 

3. Refer to Appendix 3.  This appendix provides Michael Porter’s analysis of Competitive Intensity 

and its impact upon profits.  Apply Porter’s conceptual framework to reassess your common size 

analysis for Apple in 1. above.  Based upon this analysis identify which common size year(s) you 

view to be more relevant for forecasting Apple’s earnings from for 2013 and 2014.  Again 

provide brief reasons in support of your answer. 

4. Given your answer to part 3. repeat part 1. to make the best forecast you can.  Given your 

forecast do you expect Apple to meet, beat or fall short of the current consensus analyst 

forecasts for 2013 and 2014? – (Provide brief reasons in support of your answer). 

Keep within 3 pages for your answers to the above four parts. 
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Appendix 1:  Analyst Sales Forecasts 
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Appendix 2:  Common Size Analysis 
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Appendix 3:  Porter’s 5-Forces  

Porter’s 5-Forces was originally published in 1979.  His analysis identified five forces, from industrial 

organization economics, that describe the relationship between “competitive intensity” and 

profitability.   The 5-Forces are depicted as follows: 

 

The worst case scenario (from a firm’s perspective) occurs when the 5-Forces drive profitability towards 

the “pure competition” and normal profits.  This is the case where profit margins shrink to industry 

averages.  In Porter’s original formulation three of the 5-Forces refer to external competition (new 

entrants, substitute products and competitive rivals) and the remaining two forces are identified as 

internal threats (customers and suppliers).   

The major change between 1979 and today has been the rise of social media power.  This has provided 

significant power to the mass of individual consumers who constantly chat about brands and products in 

their social networks.  This chatter can have a profound impact upon both sales and profit margins (both 

good and bad impacts).  Thus today social media has made internal threats much more significant than 

was the case in 1979.  Today’s management is usually aware of social media and this can influence their 

decision making.  Similarly financial analysts also attempt to incorporate the impact of social media 

trends into their forecasts irrespective of whether management has or not.  As a result, when making 

forecasts before just assuming the past is immediately relevant to the future, analysts must first 

consider whether competitive intensity has changed to any degree and if so how will these changes 

affect future profitability.   

In practical terms the above assessment may result in you as an analyst applying a different year’s %’s 

than what you estimate from the 2012 common size analysis. 
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For additional background reading see:  http://en.wikipedia.org/wiki/Porter_five_forces_analysis 

Appendix 4:  Extended Common Size Analysis Time Series Data 

 

 

*Note the common size percentages computed from Compustat data may not be exactly the same as 

the percentages computed from Apple’s financial statements for some line items.  The reason is that 

although sales, and major line items (such as net income, earnings before taxes etc.,) are the same, 

some in between line items such as Cost of Goods Sold may be different because some judgment is 

involved in deciding what costs are included in the line item.   Welcome to real world! 

  

30 September 2012 CPS

                                                                        

APPLE INC (AAPL) INCOME STATEMENT

INCOME STATEMENT 9/30/2002 9/30/2003 9/30/2004 9/30/2005 9/30/2006 9/30/2007 9/30/2008 9/30/2009 9/30/2010 9/30/2011 9/30/2012

(FYR Ending):

Sales (Net) 100.00% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00%

Cost of Goods Sold 70.03% 70.68% 70.91% 69.79% 69.93% 64.80% 64.34% 58.27% 59.19% 57.84% 54.08%

Gross Profit 29.97% 29.32% 29.09% 30.21% 30.07% 35.20% 35.66% 41.73% 40.81% 42.16% 45.92%

Selling, General, & Admin Expenses 27.12% 27.11% 23.07% 17.18% 16.28% 15.60% 14.99% 12.78% 11.19% 9.26% 8.58%

Research and Development 7.78% 7.59% 5.91% 3.83% 3.69% 3.26% 3.41% 3.11% 2.73% 2.24% 2.16%

Operating Income Before Depreciation 2.86% 2.20% 6.03% 13.03% 13.79% 19.60% 20.66% 28.96% 29.62% 32.90% 37.34%

Depreciation, Depletion, & Amortiz -5.73% -5.79% -4.10% -2.64% -2.60% -2.02% -2.07% -1.51% -1.30% -0.56% -0.11%

Operating Income After Depreciation 0.80% 0.40% 4.22% 11.84% 12.70% 18.37% 19.32% 27.36% 28.19% 31.22% 35.30%

Interest Revenue 2.06% 1.11% 0.77% 1.31% 2.04% 2.70% 2.01% 0.95% 0.48% 0.00% 0.00%

Interest Expense 0.19% 0.13% 0.04% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00%

Equity Income (Loss) 1.41% 1.63% 0.72% 1.18% 1.89% 2.50% 1.91% 0.76% 0.24% 0.38% 0.33%

Other EBT Items (Loss/Expense) 2.56% 1.53% 1.05% 1.31% 2.04% 2.70% 2.01% 0.95% 0.48% 0.00% 0.00%

Pretax Income 1.52% 1.48% 4.63% 13.03% 14.59% 20.86% 21.23% 28.12% 28.42% 31.60% 35.63%

Income Taxes / Federal 0.14% 0.29% 0.41% 2.18% 3.20% 5.08% 5.98% 5.05% 3.30% 3.59% 4.63%

Income Taxes - Foreign 0.51% 0.34% 0.56% 0.42% 0.52% 0.43% 0.85% 0.80% 0.43% 0.71% 0.77%

Income Taxes / State 0.03% 0.06% 0.06% 0.47% 0.29% 0.47% 0.65% 0.65% 1.00% 0.70% 0.76%

Income Taxes - Other 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00%

Income Taxes - Total 0.38% 0.39% 1.29% 3.45% 4.29% 6.30% 6.35% 8.93% 6.94% 7.65% 8.96%

Minority Interest 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00%

Net Income from Continuing Operations 1.13% 1.10% 3.33% 9.58% 10.30% 14.56% 14.88% 19.19% 21.48% 23.95% 26.67%

Extraordinary Items 0.00% 0.02% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00%

Discontinued Operations 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00%

Consolidated Net Income 1.13% 1.11% 3.33% 9.58% 10.30% 14.56% 14.88% 19.19% 21.48% 23.95% 26.67%

Net Income Attributable to NCI 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00%

Net Income Attributable to Shareholders 1.13% 1.11% 3.33% 9.58% 10.30% 14.56% 14.88% 19.19% 21.48% 23.95% 26.67%

EARNINGS PER SHARE

EPS - Primary, Excluding EI&DO 0.000031 0.000031 0.000089 0.000118 0.000122 0.000168 0.000169 0.000215 0.000236 0.000259 0.000285

EPS - Primary, Including EI&DO 0.000031 0.000031 0.000089 0.000118 0.000122 0.000168 0.000169 0.000215 0.000236 0.000259 0.000285

EPS - Fully Diluted, Excluding EI&DO 0.000031 0.000031 0.000086 0.000112 0.000118 0.000164 0.000165 0.000212 0.000232 0.000256 0.000282

EPS - Fully Diluted, Including EI&DO 0.000031 0.000031 0.000086 0.000112 0.000118 0.000164 0.000165 0.000212 0.000232 0.000256 0.000282

http://en.wikipedia.org/wiki/Porter_five_forces_analysis
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Assignment 1.3:  Reading and Interpreting Derivatives Accounting Reports 

Introduction 

Using the FSA Module select View and Plot Items and find PepsiCo latest 10-K filings: 

 

You can also access the 10-K filing as follows and clicking on the .htm hyperlink: 

 

You can then click on the “Find on page” button to locate key words such as “hedge” and “derivative” so 

you can read about PepsiCo’s use of derivatives and hedging activities. 

You can refer to this and the Statements:  Consolidated Statement of Comprehensive Income (USD $) for 

21 February 2013 10-K and the Consolidated Statement of Income to answer the followings. 

Required: 

1.  What types of risks does PepsiCo use derivatives to hedge and rank the relative importance of 

each risk to PepsiCo based upon the relative size of PepsiCo’s derivative usage?   Provide 

numerical support for your answer from PepsiCo’s latest 10-K report.   

2. Can you infer from the 10-K statement’s footnote whether or not all of PepsiCo’s derivatives 

satisfy Accounting Hedge Accounting standards?   Provide any evidence you find to support your 

answer to this question. 
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3. What are the unrealized gains and losses from PepsiCo’s derivatives for the year covered in the 

latest 10-K report?  Did all of these unrealized gains and losses pass through OCI or Accounting 

Income or both statements?  (provide support for your answer including estimating how much 

passed through each statement)  

4. Did PepsiCo have any realized gains and losses that were previously recognized as unrealized 

gains and losses in the OCI statement?  If so by how much did the realized gains and or losses 

increase or reduce Accounting Income for the year covered in the latest 10-K?  (Provide support 

for your answer) 

  



©2013 O.S. Financial Trading System 

Assignment 2.1: Analyzing Accounting or Fundamental Growth 

Coca-Cola (KO) and PepsiCo (PEP) are two popular international brands.  In 2012 (and 2011 in 

brackets) Coca-Cola sold USD 48.017 (USD 46.542) billion and PepsiCo sells over USD 65.492 

(USD 66.504) billion annually.  The fundamental or accounting growth for Coke in 2012 was 

0.137 and for PepsiCo was 0.134.  That is, practically the same.  The ROE for each company is 

also practically the same also for 2012 at 0.28 for Coke and 0.288 for PepsiCo as is their 2012 

dividend payout ratio which is 0.51 for Coca-Cola and 0.534 for PepsiCo. 

On the surface the two companies appear to be very similar in terms of performance levels in 

2012. 

Additional Information: 
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Required: 

i. Define accounting or fundamental growth, describe the major firm decisions made 

by management that drive this measure, and relate these decisions to the definition. 

ii. Given the information provided above for this question, compare Coca-Cola versus 

PepsiCo’s fundamental growth with respect to the major decisions  identified in part 

i.,.  What differences arise between the stocks when viewed this way and provide a 

brief description of what these differences mean. 

iii. Suppose you are a financial analyst.  Your task is to contrast and describe in your 

own words, using only the information provided above, how the investment 

decisions driving return on assets (ROA) are either different or the same for Coca-

Cola versus PepsiCo in 2011 and 2012.  To receive full credit, provide support for 

your answer.  

iv. By using the additional information provided in this part of the question provided 

below, now refine your answer to part iii.,.  In addition, you should provide a brief 

comparison and evaluation of each management’s performance in 2012 with 

respect to how well you assess that they are implementing their firm’s business 

model.  
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Assignment 2.2:  Analyzing Profitability of Vodafone versus Ooredoo 

Page Limit for Answer:  Your answer should be well organized and be around 1-2 pages.  It 

should not exceed 2-pages. 

Background Information 

Government regulators usually do not like monopolies because they result in consumers paying 

more for goods and services than would be the case if the industry was competitive.  This is 

because basic economic theory predicts that prices and profits are higher in industries where 

there is monopoly power.  Regulators create laws and contractual rights as a control against 

monopolies forming and or persisting.   

For example, in the US the anti-trust laws are in place to promote competition.  These anti-trust 

laws work towards prohibiting monopolies (if feasible), prohibiting the abuse of monopoly 

power, prohibiting takeovers that are designed to eliminate competition and similar activities.  

Sometimes corporations are broken up if they are judged to be too big and providing a threat 

to competitive markets.  The overriding objective of these types of laws is to benefit 

consumers.  

In Qatar, Vodafone Qatar was permitted to commence operations in 2009 in order to create 

competition for Qatar Telecom (or now Ooredoo).  Now there are a few years of financial 

results available you can judge whether competition is having an impact upon financial 

performance. 

Required: 

The financial analyses in the appendices provide the profitability and cash flow concepts 

introduced in class for both Ooredoo and Vodafone Qatar.  In addition, the business 

descriptions for each company are provided in the third appendix.  In this assignment you 

should apply any of these profitability and cash flow concepts to answer the following.   

i. Did Vodafone’s entry into Qatar have an impact upon Ooredoo’s profitability and 

cash flow performance?  (Provide reasons in support of your answer) 

ii. Is the impact upon both company’s profitability and cash flow performance 

consistent with what you would expect from increased competition in this industry?  

(Provide your major reasons in support or against for your answer) 
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Appendix:  Profitability Analysis 

Ooredoo QSC (135709) 

 

Vodafone Qatar QSC (292438) 
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Appendix:  Cash Flow Analysis 

Ooredoo QSC (135709) 

 

Vodafone Qatar QSC (292438) 
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Appendix:  Additional Background Information (Business Descriptions) 

Ooredoo Q.S.C. together with its subsidiaries, provides mobile, fixed, broadband Internet, and 
corporate managed services. The company operates in six segments: Qtel, Asiacell, Wataniya, 
Indosat, Nawras, and Others. It offers domestic and international telecommunication services in 
Qatar; mobile telecommunication services in Iraq; and mobile telephone and pager systems 
and services in Kuwait, and the other parts of the Middle East and North African region. The 
company also provides telecommunication services, such as cellular services, fixed 
telecommunications, multimedia, data communication, and Internet services in Indonesia; and 
mobile and fixed telecommunication services in Oman. In addition, it offers landlines, mobile, 
home entertainment TV, broadband Internet, and Wi-Fi services. As of December 31, 2012, it 
had a customer base of 92.9 million subscribers. The company was formerly known as Qatar 
Telecom (Qtel) Q.S.C. and changed its name to Ooredoo Q.S.C. in March 2013. Ooredoo Q.S.C. 
was founded in 1987 and is headquartered in Doha, Qatar. 
 
Vodafone Qatar Q.S.C. provides cellular mobile telecommunication and fixed line services in 
Qatar. It offers roaming, broadband, postpaid, prepaid, mobile Internet, and Blackberry 
business services. The company also sells mobile related equipment and accessories; and 
provides money transfer services. Vodafone Qatar Q.S.C. was incorporated in 2008 and is based 
in Doha, Qatar. 
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Assignment 2.3:  How Should Vodafone Spend Verizon’s $130 billion? 

September 2, 2013 Verizon and Vodafone agree to a $130billion deal (see appendix 1).  Refer to 

the following news article: 

 

http://www.cnbc.com/id/101002583?__source=yahoo%7Cfinance%7Cheadline%7Cheadline%7

Cstory&par=yahoo&doc=101002583%7CHow+should+Vodafone+spend 

Assume the cost of equity capital from the capital markets for Verizon is 6.4% and for Vodafone 

is 7.7%.  This is the cost of capital raised from issuing stocks (not debt). 
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Required:  Answer concisely within 2-pages and the question provides a lot more information 

than what is needed for the answers 

Aside:  An important part of the assignment is being able to cut through a lot of extraneous 

information to focus upon what is relevant to the questions asked.  

1. In the Reuters article (see appendix 1) it is observed that: 

“The deal in cash and stock will give Verizon full access to the profits from the United 

States' largest mobile operator, handing it fresh firepower to invest in superfast mobile 

networks and fend off challengers in a market expected to become more competitive.” 

Refer to the financial data provided in appendix 2 – is the financial data provided in 

appendix 2 consistent with the observation made in the Reuters article?  Provide 

specific support for your answer. 

2.  In the above CNBC article it is noted that “For starters Vodafone shareholders are 

hoping for a hefty special dividend or share buyback program, which should be 

announced alongside the final details of the expected $130 billion cash-and-shares 

deal.” 

Refer to the financial data provided in appendix 2 – is the financial data consistent with 

the observation made above in the CNBC article?  Provide specific in support for your 

answer. 

3. Refer to the initial stock price reaction subsequent to the story released after the close 

of trading on August 29, 2013, in appendix 3.  Is the market reaction for both Vodafone 

and Verizon consistent with you would expect given your answers to parts 1. and 2. 

above?  Again provide brief reasons in support of your answer. 
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Appendix 1:  Verizon/Vodafone deal 

 

http://www.reuters.com/article/2013/09/02/us-vodafone-verizon-idUSBRE97S08C20130902 

  

http://www.reuters.com/article/2013/09/02/us-vodafone-verizon-idUSBRE97S08C20130902
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Appendix 2:  Financial Results 

Verizon – Profitability Margins 

 

Vodafone – Profitability Margins 
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Verizon – Cash Flow Margins 

 

 

Vodafone – Cash Flow Margins 

 

 

Verizon --- General Return Ratios 

 

Vodafone – General Return Ratios 

 

Verizon – Return on Invested Capital 
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Vodafone – Return on Invested Capital 

 

Verizon – Return on Capital Employed 

 

 

  



©2013 O.S. Financial Trading System 

Vodafone – Return on Capital Employed 
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Appendix 3:  Stock market reaction to the Verizon/Vodafone deal 

 

  



©2013 O.S. Financial Trading System 

Assignment 3.1:  Match the Business  

The point has been often made in class that a firm’s business model is a major driver of a firm’s 

Balance Sheet (or Statement of Financial Position) and Income Statement.  In particular, 

different business models generate different working capital behavior.  In this question your 

task as an analyst is reversed.  Given the ratio analysis for working capital from five different 

business models your task is to identify which ratios go with which firm and provide brief 

reasons in support of your answer. 

Brief Business Description for the Five Companies 

A:  This company designs, manufactures, and sells highly specialized integrated digital 

technology platforms worldwide.  

B:   This company provides workforce (i.e., hiring) solutions and services. 

C:   This company owns and operates a chain of natural and organic foods supermarkets.  

D:   This company franchises and operates restaurants worldwide offering various food and 

beverage items including breakfast menus. 

E:   This company engages in the manufacture, marketing, and sale of nonalcoholic beverages 

worldwide.  

Five Working Capital Analyses 

Working Capital 1                        

 

Working Capital 2 
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Working Capital 3                        

 

Working Capital 4 

 

Working Capital 5 

 

Required:   

i. Refer to the above information to this question which provides the analysis of 

Working Capital results for five companies in random order and business 

descriptions.  Your task is to match the five working capitals to the five business 

descriptions above.   To receive full credit you must provide brief reasons in support 

of each answer using two of the five working capital line items provided.  
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Assignment 3.2:  Shift of business operations strategy in the beverage industry and the 

impact upon working capital management 

Due Date September 18, 2013 and page limit not to exceed 2-pages.  Complete this assignment 

using the FSA Module. 

February 25, 2010 Coca Cola announced plans to buy North America bottler’s operations which 

marked a major shift in their operating strategy. 
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www.reuters.com/article/2010/02/25/us-cocacola-idUSTRE61O03Y20100225 

Required: 

4. Read the above article from Reuters plus the background articles in the appendix.  

Consider operating strategies broken up into real strategies and financial strategies.  

Briefly summarize the real operating strategies for Coca Cola (KO), PepsiCo (PEP) and 

Doctor Pepper Snapple (DPS). 

5. Given your answer to 1. what are some of the major financial implications for working 

capital management that you would predict for these three stocks. 

6. By applying the FSA Modules working capital management calculator, using the 

Compustat data file introduced in the cluster session, compare the actual working 

capital management results for the three stocks since 2009. 

7. Discuss whether your answers to 2. and 3. are consistent or inconsistent identifying any 

strengths and weaknesses associated with each of the three company’s working capital 

performance. 

 

Additional Information: 

By using www.yahoo.com/finance stock charts (or equivalent ), plot the current 5-year stock 

price performance for KO (Coca Cola), PEP (PesiCo) and DPS (Doctor Pepper Snapple Group Inc) 

on the same chart to compare the market’s reaction and performance given the changes in 

operating strategy that have unfolded in the non-alcoholic beverage industry since 2009. 

 

  

http://www.yahoo.com/finance
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Appendix 1:  Additional Background Information 

 

http://www.foodproductiondaily.com/Processing/PepsiCo-buys-bottlers-for-7.8bn   
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online.wsj.com/article/SB10001424052748703303904575292341015388912.html 
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Assignment 4.1:  Analyzing Risk  

Refer to the data in the appendix and answer the following.  Answer parts i-iv. using only the data 

contained in appendix 1.  Answer part v. using data contained in both appendices. 

i. Refer to the two stocks in appendix 1 to Assignment 3.1 define liquidity risk and then 

evaluate and rank the two stocks in terms of their liquidity risk.  

ii. Refer to the two stocks in appendix 1 to Assignment 3.1 define coverage risk and then 

evaluate and rank the two stocks in terms of their coverage risk. 

iii. Refer to the two stocks in appendix 1 to Assignment 3.1 define solvency risk and then 

evaluate and rank the two stocks in terms of their solvency risk.  

iv. The credit rating for these two stocks are “AA” and “A.”  Which rating is associated with 

which stock?  Provide support for your answer based upon your answers to parts i.-iii. 

above.   

v. In the light of your answers to parts i-iv. critically evaluate the results from Altman analysis 

provided in appendix 2.  You should identify information that you relied upon in parts i-iv. 

and contrast this to the information that the Altman Model is relying upon.   

vi. Given your answer to part v. do you agree with the Altman ratings provided (why or why 

not)? 
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Appendix 1 to Assignment 4.1: 

 

 

  

Stock A (Millions) 31-Jan-13

Accounts Receivable 6,857.00

Cash & Cash Equivalents 784

Current Assets 16,388.00

Current Liabilities 14,031.00

Debt to Equity Ratio 1.0658

EBITDA to Interest Coverage 9.6483

Ending Financial Leverage 2.9087

Financial Receivables 0

Free Cash Flow to Interest Coverage 3.3121

Interest Coverage 6.8373

Inventory 7,903.00

Long-term Debt 14,654.00

Long-term Debt due within 1-year 2,024.00

Shareholders' Equity 16,558.00

Short-term borrowings 970

Short-term Security Investments 0

Total Assets 48,163.00

Total Debt 17,648.00

Stock B 31-Jan-13

Accounts Receivable 6,768.00

Cash & Cash Equivalents 7,781.00

Current Assets 59,940.00

Current Liabilities 71,818.00

Debt to Equity Ratio 1.0658

EBITDA to Interest Coverage 16.0762

Ending Financial Leverage 2.9087

Financial Receivables 0

Free Cash Flow to Interest Coverage 6.6312

Interest Coverage 12.1001

Inventory 43,803.00

Long-term Debt 41,417.00

Long-term Debt due within 1-year 5,914.00

Shareholders' Equity 76,343.00

Short-term borrowings 6,805.00

Short-term Security Investments 0

Total Assets 203,105.00

Total Debt 54,136.00
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Appendix 2:  Assignment 4.1 

Stock A 

 

Stock B 
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Assignment 4.2:  Activity Analysis 

Complete this assignment using the FSA Module. 

Required: 

Intel produces chips that require a heavy investment in both physical and human capacity, 
IBM produces solutions for clients that emphasize human capacity, and Wal-Mart pursues 
an everyday low-price retail strategy  

 
Which type of business model should be more sensitive to changes in the business cycle? 
 
The business cycle refers to systematic economy-wide fluctuations over time, in the 
production of goods and services, and economic activity in general. 
 
Required: 
 
Compute the Degree of Operating Leverage for Intel, IBM and Wal-Mart 
Compute the Degree of Financial Leverage for Intel, IBM and Wal-Mart 
Compute the Degree of Total Leverage for Intel, IBM and Wal-Mart 
 
For credit show full working and screen shots if relevant.  For Intel and Wal-Mart you can 
build upon the analysis provided in the lecture and for IBM you are providing an equivalent 
analysis.  You must use either the Compustat annual data provided on the Blackboard or 
Morningstar annual financial data that you can download in .CSV form from 
www.morningstar.com to complete this assignment with the FSA Module.  State which data 
source you are using. 
 
I. Based upon your answers to 1., how sensitive would you assess Intel, IBM and Wal-

Mart to be to the business cycle?  Provide a ranking of your assessed sensitivity to 

the business cycle along with arguments in support of this assessment and rankings. 

II. What is the current Break-Even Margin for Intel, IBM and Wal-Mart?  (Again show 

support for your answer to receive credit). 

 

http://www.morningstar.com/

